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1. Of the following, which is Lhe best description of the sceond law of

thermodvnamics 7

8 The totul energy of the universe 12 a constant
1] The efficiency of the heat engne can never be greater than 20 percent
(3 The entropy of the universe s always increaszing
i4) As the sllitude increases, the boiling point of water decreases
- The velocily of an enzyme catalyzed reaction was messured as a function of

substrate concentration in the presence und absence of un inhibitor separately.
The line-Weaver Burk plot of the dala generated two straight lnes that intersected

on the Y- axis, The nature of this inhibition is -

(11 Uneompetitive () Nencompetitive
() Competitive 4} Mixed
3. All of the following statements about monomeric G proteinz are true exeept

(1) They are regulated by CGTP-GDP exchange proteins.
{2 They are regulated by GTPase activating proleine,

() They regulate enzymes that synthesize c(GMIP,

(4 They regulate hormone signal.
1. Carbon fixing enzyme in C, planiz is ;
1] Alpha amyluse 2] RUEBISCO
(3) Sucrpse synihasze (4) PET carboxylase
3. Which of the following represents the sequence of electron {low in the light

reactions of photosynthesis in higher plants ?

i1} Hy(Y ¢+ photusystem | — photosystem 1T — NADP
(2} Ho0) — photosystem 11 — pholosvstem I - NADP
(3 HoO — photosystem 11+ photosvstem 1+ ATP

id) NADPH —+ photosystem | 5 photosystem 11 - Oy
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3. The glvoxylate cyele is lound in plants and bacteria but nol in animals. The
lack of this eyele in animals results in the inabelity to
i1} Synthesize oxaloacetate from 1sccitrate
2 Synthesize glutamale [rom malate
) Perform gluconeogenesis from amino acids
(4] Perform gluceneogenesis from lipids
i The selective screening of eryptochrome mulants over phytochromes should be

done under !

(1) Rlue light (23 White light

(3 Red + blue light (4] Red light
8. Photoinhibitory damage 1s reflected by :

(1 High turnover rale of D1 protein in PSII

(2] Low turnover rate of 131 protein in PSII

(3) High turnover rate of D2 protein in PSII

{4} Low turnover rate of D2 protein in PSII

g The hormone that is rapidly synthesized during watler stress is
(1 Cytokinin (2} ABA
(3 Auxin i4) GA3

10, Resistance to herbicide glvphosate in the transgenic plants is brought by :

(1) Glutamine synthaze

(2) Aveloacetate synthetase

{3)  Enolpyruvyl shikimate-3-phosphate synthase
i4) Aspariate aminotransferase

DL-315-BOT—A 3
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Nuring vernalization FLC gene emgeneiically suppregzed by

1] HIDAC: (2) PRC2 complex

131 PEMT 4] TET

Which of the following is not Lrue for allelochemicals 7

(1) MNon-nutrinational molecules

20 Stimulatory and inhibitery activity on neighboring plants
3 Secreted by all parts of plants

4 mecondary metabolites

Aquapering are class of proteinz that are relatively abundant in plant membranes.

The lollowing are certain statements rtegarding the properties of aquaporins :

I Aguaporing form water channelz in membrane

Iy Some aquaperins also transport uncharged molecules such as NH,

III}  The activity of aquaporins is not regulated by phospherylation

{IV: The activity of aguaperin is regulated by calcium concentration and
reactive DEYERN species.

Which ene of the following combinations of the above statemenis is correct ?

i1} [, I1 and IV i2) I, [T and 1V

o I I and TV 1) 1, 11 and IT1

Which of the following plant groups are evalved during the Siluman period 7
i1) Bryophyta {2) Psilophyta

(3 Lycophyta {(4) Spherrophyvta

Which of the following best deseribes a sipmficant difference between vaseular
and non-vascular plants ?
1) Vaseular plants have lignificd cell walls to provide mechanical support,

whereas non-vascular plantz do not

(2) Non-vascular plants are homosporous, whereas vascular plants are
heterosporous
) [n non-vascular plants the cells of the xylem and phloem are living, whereas

in vascular plants they are non-living
4) In vascular plants, the sporangia grow ahove the rest of the plant casy

dispersal of spores, whereas in non-vaseular plants they do not

1-315-BOT 1
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20.

Which of the following tissues is useful for conduction of food material in the

rhizome of polyirichum 7

i1 Loptoids 2] Hydroids

13 Stereids 4} Amylom

Which of the following was more abundant during Cretaceous period 7

1 Maogzes T2 Py MnOSperms

(3 Angiosperms (4] Lycophytes

Which of the following siatements are rorrect ?

(A} Thick walled tracheids sand narrow rays is the character of pyenoxylic
wood .

(B3)  Thin walled tracheids and broad rays is the character of manoxylic wond.

(0} Thick walled tracheids and broad rays 12 the character of pyenoxylie wood

{I1)  The wood of pinus is pyenoxylie acid.

(1 (A), (B) and (D)) (2) (A), (B} and (C)

(3 (B, (C) and (1)) (4) (A), (B), (C} and (D

What is the shape of conifer leal adapted to heavy snow 7

(1) Flattened (2 Chubical

i3) Needle like (1) Scaly

Which of the following is the difference between the Shool Apical Meristem (SAM)

to Hoot Apical Meristem (RAM) 7

() RAM iz not invelved in organogenesis

b RAM produces new cells acropelally to renew the root cap

(e} RAM is invelved in organogenesis
(1} ) and (b (&) (B and (o)
() (@] and e} 4) ferl, (b)) and {c)

DL-315-BOT—A 3 B.T.0



21 Which of the following is/are the fusetionis) of Expansins ?

i invelved in reaction methylation
i) involved in transglyeosylation
) myvolved o acetylation
i) Cross-linking network in cell walls
il el and (h) i taal, (B, o) and id)
i3} {rt) and () i4) d) nnly
22, WOX (Wuschel Homeo box like) family related {o :
(1} Cell division and development in the early embryo of Arabidopsis

() Photosignaling in Arabidopsis

3} Transpiration in Arobidopsis
14 Vascular tissue proliferation
23, Below are examples of plants with syvmbiotic asseeiations. Which iz best
combination ?
Lt ) Glvine max i1 Brodyrivuzobium japonicum
1) Trifolium sativa il Rhdzebium leguminosarum
{e) Sancharum app () Gluconacetobocter divzotrophicus
led ) Medivago salivo (IV)  Sinorhizobium meliloti

i1 tal (L), (B)-II), Te)—(IIT), td 1V
{2) (@} —IV), () —II), (e 1), (o) —11I)
(3} leadb—i LT3, §00— 11}, (e—(IV), (d)—(T)
(4} da)—(HI5, b1}, (e—{IV), idi—11}
24. A mutation deleting an upstream activating sequence for a single gene would
be expected to be :
(1) polar 2} trans-dominant

(3 gilent reverlible (4] cis-dlominarn

e
:'.:.-'l

Afier pollination, the following events are very important for fertilization Lo oecar
in flowering planis ¥

(1) Sperms swim to the egg and the polar nuelei

(2) Meioziz occurs within the pollen gran

(3) A pollen tube grows from the stigma to Lhe ovule

4] Petals close around the reproductive parts

DI-315-BOT A b
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28,
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Agpirin delays seneseenee 1n eut partz of plant and keeps flower fresh for longer
time, The effect of aspirin iz :

‘1) hy decreasing the synthesis ol ethylene

£ by increasing the syrithesis of ABA

3 by increasing Lhe synthesis cytokinins

(1) by increasing the synthesis of GA

Somatic cmbryos from eotyledon explants would develop in which of the following
sequences 7

il Globular, terpedo, heart, cotyledonary stage

4] Globular, heart, torpedo and cotvledonary stage

13} Cotyledonary, heart, globular and terpedo

v4) Cotyledonury, torpedo, heart and globular

Lockharl cguation explains relationship between the .

(1) rate of increase in cell volume, turgor pressure and cell wall
{2 cell volume and respiration speed

Bed cell volume and cellular organelles health

(4) cell volume and oxidative phosphorylation rate

Asda-Halliwell pathway protects plants asgainst oxidative stress during unfaverable
envirommental growlh regimes. The following are some statements related 1o

the stresstolerance mechanism through this pathway in plants :

{1} Oxygen acceplor electrons as an alternative electron acceptor
{2} Hydrogen peroxide ig reduced by catalase Lo form water
(3} Ascorbate is oxidized and regenerated

(4) Glutathione 1s oxidized and reduced

Which are true in case of pollen allergens 7

() Includes peclin-degrading enzymes

ihl Dizcases resislant proteins

() Ca*? Binding proteins

{1 ) only P23 (h) only
(35 (e} anly i4) ta), (b, (e}

=1
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31, The fruits vndergo bursl in respiration as they ripen =2 called -

1) regpiralory hormone burst 12 respiratory climaeteric
13 reapiratory elevation ) respiralory depression
3k What are Lhe chemieals found 1n 3tem and root of phyllanthus amarus

respecltively ?

(11 Phvllemblic arid and Ascorbic acid

12) Ascorbic acid and Fhyllembhie acmd
13 Glyeoflavones and Saponin
(4} Saponin and Glycoflavones

23 ICAR-Indian Tnztilule of Hortieultore Research is loeated an

g Mahsarashtra () Kerala
(3 Telangana i4) Karnuataka
34. Which of the following iz best mateh ?
i) Sunddarban (I Sanctury
(b Bandipur (11}  Bicdiversity hot spot
(e Huzaribagh (1 National Park
i) Western Ghat iIV) Biosphere reszerve

(1) (a)}—iT¥), thy—(I113, {cF—(1), GD—1L)
{23 e —(1h, (—HD, (e —TV), (d—(1)
{3) (a—I¥), (B)—1D), (e —(111), (di—1)
(4) (a)—(I1), [B1—IV), (e}—(1), (d)—(1ID)

30, The largest rattan genus distributed in Asia 1=
{1 Calamus (23 Daemonorops
{2 Ceratolobus i4) Korthalsia
36, Phyllanthus genus growth forms including
letl annual and perennial herbs
i) shrubs and elimbers

{e) floating aquatics and herbs

{ed] succulents and perennial herbs
(1) (2} and (B) (2 te), (b)), (&) and ()
i3 lerd and (o) i) by, el and (d)

3. Gurmarin is obtained from
117 Mangifera indico () Andrographs sps
(23 Fuealvptus sps 4] Crvmnema sylvesire

DI.-315-BOT —-A o



bt Shola 1s

1) Dryland
(2] Deciduous forest surrounded by grassland
(3} Chapprals
i) Bvergreen foresl surrounded by grassland
39, (it national park iz located im :
(1) Sikkim (21 Karnataka
(3 Gujarat (4} Maharazhtra
44, Find the correct mateh of ICAR Research Institutes with places :
(o) Central Plantotion Crep Research Institute in Hyderahaid
bl Central Institute of Cotton Hesearch (I1) Kanpur
() Indian Institute of Pulses Hesearch (II11  Kasaragod
i) Central Rescarch lnstitute of Dryland Agriculture (IV) Nagpur
(1) {@l—i1), (b1, (o)1), td TIV)
(2) (e — 1D, (h—(1D, (e—IV), {a—(1)
(3] (I TIT), (b—1IV), (e)—(1D), (d)—T}
(4] (e IV, (B )—(TT), (ei—(11T), (o)1)
41. Chromesome organization demonsirated from a scries of biochemical, eleciron

microseopic and X-ray crystallographic studies. When interphase chromatin 18

igolated in low salt buffer and observed under EMS 11 nm bead on string

organization is seen. Interphase chromatin directly observed under EM shows

30 nm fibre. When hisztones are depleted from metaphase chromosome and

visualized under EM, it shows a huge number of very large loops associated

with scaffold.

The following interprelalions can be made from these .

{1
(11}

(111}
{1V

11 nm fibre is formed when nucleosomes are brought closer by secaffold
30 nm interphase chromatin is formed by zig-zag erganization of a
nuelevsomes of 11 nm fibre

30 nm fibre makes a solenoid packing to form the metaphage chromosome
30 nm fibre gets organized into loops due to SAHRs getting associated with

scaffold proieins and coming ecloser

The correct combination of interpretations is

(11
3

(1) and 1V} (2 {1} and (IIT}
(1) and (TI) (4} (TT) and (1Y)

D].-315-BOT—A 2 P
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44,

Polytene chromosome 15 generated due to

(1) Fatlure of DNA replication

{2 Repeated DNA replication withour segregation of chromuosomes
(3 Pairing of homoelogous chromesomes

(<) Due Lo exlensive transcription process

The concept of recon was proposed by Seymour Benzer by sludying recombination
between

i1 Lysis mutants of bacteriophage T4

(2} White eye mutants of flrosophile melenogaster
{3} Biochemical mutants of Newrospora crassa
(i Auxotrophic mutants of Escherichin coli

When bacteria are transformed with DNA, the elfectivencss with which they

take up DDNA 15 quantified as the transformation efficiency. If the operational

definition of transformation efficiency iz the number of bacterial colonies obtained

when bacteria are incubaled with 1 microgram of DNA. A new student prepared

bacterial cells suitable for transformation. On testing his preparation, he obtained

A00 colunics when he plated the cells with 8 picograms of DNA. His transformation

efficiency is

() 1 x 107 21 1% 108

(3 & x 109 (4 B = 10°

While designing an experiment for Agrobacteriurm mediated plant transformation,

a student noted down the following points ;

{a) T and R plasmids induce crown gall and hairy root dizease, respectively

(f) Fnzyme octopine synthase and nopaline synthase involved in the synthesis
of oetopine and nepaline, respeclively are encoded by T-DNA

L All the six vir genes, vir A, vir B, vir C, vir D, vir E and vir G are absolutely
required lor virulence

(al) Almosl perlecl 25 bp direct repeate sequencos flanking ull Ti1 and I
plasmids in the T-DNA region is essential for T-IINA transfer

Which one of the following combinations of the above stalements is eorrect 7

i1 ted, th) and {2) LM ihi ied and ()

3} lexd, fe) and (d) i) ), (B and (d)

DL-315-BOT—A 10
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In a transformation experimeni. donor DNA from an K. eolf strain with the
penoiype Z7YT wag vsed to transform a strain of genolype £ZY. The [requencies

of transformed classes wers

s 200
&K A00
=X A0
Tolal 1000
What 15 the frequency (%)} with which Y locus is co-transformed with the
Z locus 7
{1 1 (2 20
1] a3.3 (4) 40

The melting temperature Tim of a duplex is deflined as the lemperature al

which half the molecules have dissociated into single strands, Tm will be

maximal at :

(1) Low ionie strength and high DNA econc.

(2 Ihgh 1onie strength and high DNA cone.

{3 High 1onie strength and low DNA cone.

(4] Low 1onie strength and low DINA concentration

A silent mutation in a gene results in

(1)  No change in the nuecleolide sequence of the mRNA encoded by the gene

{2) No change in the aa sequence ol the protein encoded by the gene

(3 No expression of the protein encoded by the gene

(4)  An aa substitution that has a significant effect on the functional activity
of Lthe protein encoded by the gene

A cross is made belween a pure breeding plant having red coloured flowers with

a pure breeding plant having white coloured flowers. Such a cross is called :

(1} Test cross {2) Monohybrid cross

(3 Ihhybrid ernss (1} Back cross

A moving ant, upon encountering an obstacle, may turn cither lefl or right and

continue moving. To test the hypothesiz thal the direction chosen by the ant

iz random, the most appropriate statistical test is ©

(1} Student’s {-test 12} y%-test of independence

{3) v-test of goodness of fit (4 correlation test

DL-315-BOT—A 11 PO



ol The % hzase pair values of four nucleie acid zamples are provided selow. Which
one of the lollowing samples hus the highest Tm 7

(1% A=l P=101 =21 =28

(2} A=26T=11 G =34 L =26
(3} A I =18 Gae'@l B=l
(4} A= 30T =80 (=08 =185
32 Which 1z correct 7
Spliceosomes
(Al are composed of ENA and protein
(31 recogmize RNA scquencez that signal for removal of introns
L can produce different mERNA moleceles by splicing at alternate site
(11 (Al and (B) 6241 (A} and ()
) i3] and (C) F4) (A, (B and ()
ad. Which of the following level of sequence correctly represeni the classilfication

of plants ¥
(1) Kingdom-Division-Class-Order-Family-Genus-Species
(2) Kingdom-Division-Order-Class-Family-Genus-Species
(3] Ihivizsion-Kingdom-Class-Order-Family-Genus-Species
(4) Kingdom-Division-Class-Family-Order-GGenus-Species
i According to the "Sexual System of Classifieation™ the entire plant kingdom is
divided into :
(1) 23 Classes {2} 24 Classes
(3) 240 Classges {4) 1336 Classes

Which of the following statements are correcd 7

i
-l

(Al Obdiplostemonous means outer whorl of stumcens are opposiie to petals
and inner whorl are opposite to sepals

(Bj Ruminale endesperm is present in Annonaceae

(e Grynostegium 1s seen 1n Apocynaceae

(D} Carculus fruils are present in Lamiaceae

(1 (A), (B}, Oy, (10 i21 (A) (B, 1C)

(@r  (B), (€1, (I 4y (A (Bl (1)

DL-315-BOT—A L
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62

63.

An illustration of the evolutionary relationship among a group of erganisms 18
krown as Phyvlogenetic Tree. Thiz iz also known ss

1) Dendrogram 127 Tree Monogram

i3 (lystogram i4) (Genogram

Which of the following computer bazed softwarc 1s used for phylogenetic analysis

biused upen multiple orgamsm gene sequence ?

1) BLART 2} Clustal W
3| Pubmed &5} SWI1SS-PROT
Gralting 1s not possible in monocot plants because they :
B lack cambinm and have scattered vascular bundles
(2] have parallel bundles

(3] are herbaceous

41 have smaller flower

If each stamenr of a [lower 12 having 580 pollen mother cells, how muny pollen

grain: are produced from a zingle Dower of Dalbergia ¥

(1} 41760 (3) 17200

() 208801 (4 23200

A very popular anti-cancer medicinal plant Caetheranthus roseus belong to -
{1} Malvuaceae (2) Apocynaceas

(3 Asclepiadaccae (4] Lamiaceae

The malpighian cells in the seed coal of Fabaceae are !

(L) Macrosclercids (2] Brachysclereids

(3 (Osteosclereids (4] Astrosclereids

How many types of spores are produced after somalic hybridisation and before
reduction divigion in black stem rmust of wheat ?

(1 1 (2 2

(3 3 (4) 4

The cell wall of bacterma i1 made up of peptideglycans which eonsist of the

alternating unit of :

(1) N-methylglucosamine and N-acetylglucosamine
) MN-acetylglucosamine and N-acety]l muramie acd
i3 N-aminoglucosamine and N-acetyl muramie aecd
1) N-acetvlglucosamine and M-chlorobenzoie acid

DL-315-BOT—A 13 BT
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68,

70.

Which of the following virus has helical symmetry 7

(1) Adenovirus i) T

{3) Vacenia i TMV

What is the genetic material of geminiviruges 7

1) ssDNA 2} ds DN A

50 sxRENA i1} DNA-BNA Complex

There are small outgrowths on leal and stem which 13 usually assvciated with

mosaie. This phenomenon is known as ¢

(1) Stunting {2} Enations

3 Viteseence {4} Chloresis

A bacterial cell divides onee every minute. It takes an hour to fill a glass, How

much time will it take to [l hall’ of the glass ?

(17 30 minutes 12} 15 minutes

i3) 29 minutes (4] 59 minutes

The order Centrales and Pennales belong to which of the following elass :

(11 Both belong to class Baeillariopheeae

(2 Both belong to class Chloromonodineae

(31 Centrales belong to class Bacillariepheeae whereas Pennales beiong to
class Chloromonodineae

4} Both belong to class Hhodophyceae

The members of order Laminariales are commonly known as ;

1) Sinus (2] Desmids

(3 Kelp i4) Laminarin

It is eompact globose structure formed by the aggregation and adhesion of hyphae

which may survive for many years and represent the resting stage of fungus.

It accumulates the reserve food alze. This mass iz koown as

(1) Haustoria (2) Selerotium

{3} Appressorium i4) Prosenchyma

Which of the following highly fatal toxin and carcinogen substance produced by

some fungus species which affect the central nervons system ?

1) Gyromitrin 2] Trisporiec aeid

i Neovercosporin 14) Ephedring

DL-3156-BOT--A 14
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The acrosome is an organelle develop over ke head of spermatozoa s derived

from |
i1 Smooth endoplasmic reticvlum  (2) Hough cndoplasmic reliculum
{3 (rolgl complex i4) Miiochondria

Because of presumed lipid content, one of the eellular urganelle is also known

ag Lipochondria, This cellular erganelle s

(1} Smuooth endoplasmie reticulum  [2) Mitochondra

il (Golgn Complex 4 Plasma membrane

This protein is produced by plant cell wall which acts as mechanical barrier

to black spread of pathogen between cells during infection :

1) Extensin {2) Exarch

= Effectors i) Elicitors

Which of the following statements is correct about the meiosis cell division 7

(1) It possess 2 cell .divisions, produce 4 daughter cells with haplod no. of
chromosome, genetically different from parent

(2] It possess 2 cell divisions, produce 2 daughter cells with haploid no. of
chromosome, genetically different from parent

&3 [t possess 2 cell divisions, produece 4 daughter cells with diploid no. of
chromozome, genetically dilferent from parent

(4] It possess 2 cell divisions, produce 4 daughier cells with haploid ne. of
chromosome, genelically zimilar from pareni

(ilucose-6-phosphatase enzyme is found in .

(11 Smooth endoplasmie reticulum (2} Hough endoplasmic reticulum

(3} Sarcoplasmic reticulum (4) Chreomatin reticulum

Which of the [ollowing faciliteles movement of substances between the plant

cells 7
(1) Flasm:a membrane {2} Plasmoedesmata
] Middle lamella i4) CyLoplasm

The zone of vegetation at the bottom cold layer of water zone where NO
temperature gradient is evident 1s known as !
(1} Epilimnion [} Thermocline

(3} Metalimnion 41 Hypolimnion

D1.-315-BOT—A 15 PP
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Sorme insects, birds and mammals in warm humid climates bear darker pigment.
than the races of some species prezent 1n cool and dry ¢limate This phenomena
15 known as -

i1 Glogoer rule BTN Bergman’s rule

i3} Allerz rule (4} Jordon’s rule

This 1z the process of soil formation through mineral matliers und their biological,
wpographical and climatic interactions, This process 12 known as

L1 Melanizalion (2] Eluviaiion

i3 Pedogencsis i4] Podosolization

Phenology of the plant iz affected by ils response to alternating high and low

temperature 1n diurnal cvele iz known as ¢

ol Phenothoerm (2] Thermoperiodism

13 Thermaophile (4] ltekistothermsa

The cooling of seeds at low temperature in order Lo accelerate [lowering is
known as

1) Photoperiodism {2) Aestivation

{a) Vernalization 4} Senotherm

Same species differ in appearance due to environmenially induced wvariations

are known as ;

(1) Ecads (2] Ecoszpecies

(3) Eroatypes 4} Ecochne

Species that occur in different geographical regions are cualled :
(1) Sympalric 2] Allopatrie

() Amphitheatrie (4] Fasciation

"

In context with population ecology “a bell-shaped polygon™ is related to @
(1) Age structure of population (2 Natality of population

{3 Size and densily of population (4) Dispersion of population

In plant ecology the “Seral Stage” is related to :

(1) Size and density of population (2) Climax Community

(3 Seed dormancy i4) Ecological natality

What is the total area of “GCulfl of Mannar Biosphere Reserve® in terms of Square
kilometer ¥

(1} 1,500 (2} 10,500

(3 2,837 i4} 8,520
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Plants that are grown 1n polluted seil, their roots can extract the conlaminant
like heavy melals by one of the two ways; either breaks the contaminani, dowrn
in the soil or 1o suck the contaminant up and above it in the stem and leaves
of plant. Thiz phenomenon iz called :

{1} Phytoremediation i) Bio-magnification

(3 Phytomining (4} Biv-transformation

Major pollutants responsible for depletion of ozone layer in the atmosphere are :

11 Chlorofluorocarbong, nitrogen oxides and hydrocarbons
i2) Sultur dioxides, methane and Carbon monoxide
i3] (Carbon monoxide and Carbon disade

4] PAN and Carbon moenoxide

What 1z *Micropropagation” 7

(1) Regeneration of whole plant through tigsue culture media
(2] Microbes and plant eulture in same nutrient media

(3 Development of microbes in plant cell and tigsues

(4; Traunsfer of genes into planl using microorganism

The asexual propagation of plants by detachmeni of some part ol the plant
body e.g. @ vulting and its subsequent development into a complete plant is
called :

(1) Synchroncus culture (2 Vegelative propagation

(3} Parasexual hyhridization (4) Morphogenesis

These are cells or plant containing nueleus of one species but evtoplasm from
both the parental species are ealled

{1 Cybrid (2} Capsella

(3 Callus () Meristemaoid

Nicotine is plant based secondary metabolites which is used as |

i1 Perfume (2) Insecticides

(3} Anti-bioties (4} Hormones

What i1s “Canavanine” ?

{1} A type of vitamin

{2 A lype of monosaccharides
i3) A lvpe of plant hormone
() An amino zcid which is not found n protein
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Liquid Nitrogen is uzed in the laboratories for cryopreservation of seeds, pollens

ete. What 1 the lemperature of liguid Nitregen 7

i1y —Hi"F 12 R

i3 —196°F i4) —196"C

‘1" factor iz the very important feature of K. eoli. Replication of F factor in

E. eolt 1s strielly controlled, The F lactor econtains gene oris, rep K, porA, porfl

and par(!, Based upon these features Shizuva of of in 1992 developed a high

capacity DNA inzert wector, which iz very much in use for prepanng genomic

library of higher organisms. Whal 13 the name of the wvector 7

i1l BAC vector () PAC vector

(3} YAQ veclor (4] FFosmid wvector

During isolation of DNA from plant cell, a particular ratio of phenol :

chioroform © 1soamyl alcohol is used. How do they work ?

il Phenol denature protein and isoamyl aleohol depature plasmad DNA

(2] Phenol denature protein and isoamyl alcohol prevent loss of DNA and
frothing

13) Phenol denature cell wall and 1soamyl alecohol denature plasma membrane

(4] This ratio helps in the final stage of DNA i1zolation [or precipitation
of DNA

Which of the following dizseases 12 caused by Agrobacterium tumefaciens 7

1) brain tumor in human

(2)  powdery mildew disease in any agricultural crop

(3) bacterial blight in rice

i4) plant tumor

Autoclaving iz the method of sterilization of equipment, certain buffers and media.

Usually, dl whal temperature and pressure it 15 used in the laboratory ?

(1] 221°C and 15 pounds of psi respectively

(2) 121°C and 15 pounds of psi respectively

3] 116 and 121 pounds of psi respectively

{4) Z221°C and 115 pounds of psi respectively

Which of the following antibiolic resisianee gene 1s present in YAQ vector 7

1) Ampicilhin [ Chloramphenicol

i3] Kanamyein {4} Streplomyein
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